T

=
<
[

T T TT]TT II|||||_lU|| IIIIIIVI IIIIIIVI IIIIII]YI IIIIII]YI IIIIII|Y| IIIIIWI IIIIIWI IIIIIHYI IIIIIHYI IIIIII|Y| II|||||Y|

1072

1/N,, 1/21p_ do/dndp

[EEY

Ratio to ATLAS

0.5

C

000 GeV pp

Soft Q

Charged Particle sl Spectrum(NCh >6,p_>0.5GeV)

IIIIIWI IIIIIWI IIIIIﬂ[I: iy

B ATLAS
--4-- Herwig 7.2.1 default
—4— Pythia 8.180 default

v v
— A

AN I|IIII-lllI| IIIIIlIJI IIIIIlIJI IIIIIlIII IIIIIlIII IIIIII\II IIIIIlI]I IIIIIlIJI IIIIIlIII IIIIIlIII IIIIII\II IIIIII\II IIIIIlIJI IIIIIlIJI IIIIIlIlLD

\\~ f ﬂ!-l!-E
N B pymper

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N

=

0.5



	Contents
	Page 1


